Relationship brightnessB* 1 and luminanceLt as function
of tristimulus value Yt for the adaptation luminancel ;=3 cd/m'

Relationship brightnessB*  and luminanceLt as function
of tristimulus value Yt for the adaptation luminanceL ;=3 cd/m'

Bir(LT. Lo ) = Cri®)LT ~Bella, ) brightnessBY 1 [1]

Ba(La $) = Cr () [So(9) + Sy(®)LA] (n=0,31) 2
Lie(La §) = [So(0) + Sy@)LA " (t=black threshold)  [3]
Lt ¢ Cr®) So@) Si) Balla®) Biy Lu Ldl
7 120" 22,969 0,0718 0,2448 9,55 34,10 0,05 50
5 120" 22,969 0,0718 0,2448 9,55 28,41 0,05 5(
2 120" 22,969 0,0718 0,2448 9,55 22,73 0,05 5(
1 120" 22,969 0,0718 0,2448 9,55 17,05 0,05 50
0 120" 22,969 0,0718 0,2448 9,55 11,36 0,05 5(
0 120’ 22,969 0,0718 0,2448 9,55 5,68 0,05 50
0,05 120" 22,969 0,0718 0,2448 9,55 0,00 0,05 5
0 120" 22,969 0,0718 0,2448 9,83 11,36 0,05 5(

Bir(LT La ) = S()LT — chalLar 0) brightnessBY; [1]

Ba(La §) = CT(@)[So(d) + Su(9) L3 (n=0,31) 12]
Sd®)=Cr(®) [B]  deal9) =Ba(la ¢) [4] (s=scaling factor)
Lt ¢ Cr®) o) Si(¢) Ballad) By (@) duald)
7 1200 22,969 00718 02448 9,55 3410 22,96 9,
5  120° 22,969 00718 02448 9,55 2841 22,96 9,
2 1200 22,969 00718 02448 9,55 2273 22,96 9,
1 1200 22,969 00718 02448 9,55 17,05 22,96 9,
0  120' 22,969 00718 02448 9,55 11,36 22,96 9,
0  120° 22,969 00718 02448 9,55 568 2296 9,
005 120' 22,969 00718 02448 9,55 000 2296 9,
0  120' 22,969 00718 02448 9,83 11,36 22,96 9,

heszl-5a =3, L=300,L =3, =120, B,=9,55 B1 ;=22,73

Nes2l-6a =3, L/=300,L o3, 0=120', B;=0,55,8% =22, 73,5-22,96 0x:=0,55

Relationship brightnessB*,; and luminanceLt as function
of tristimulus value Y7 for the adaptation luminancelL ;=3 cd/m'

Relationship brightnessB*,; and luminanceLy as function
of tristimulus value Yt for the adaptation luminanceL ;=3 cd/m'

BY(LT, L, Ly, 6) = [Cr(®)LT — Br(Lr, §)]B%  brightnessBA 1 [1]
Br(Lr. 9) = Cr(9)[So(0) + Su@)Lr]  (n=0,31,B%,=B{r, /Bi1,) [2]
Lwilba §) = [So®) +SIOLT "B (t=black threshold) (3]

Yoo 0 Cr9) S@)  Si®) Br(brd) Byr Ly Ldlle
34 120' 22,969 0,0718 0,2448 34,60 14999 025 5
22 120° 22,969 0,0718 02448 34,60 12499 025 5
13 120° 22,969 0,718 0,2448 34,60 99,99 0,25 5
7 1200 22,969 00718 02448 34,60 7499 025 5(
3 120° 22,969 00718 0,2448 34,60 49,99 0,25 50
1 120° 22,969 0,0718 0,2448 34,60 24,99 025 5(
0,05 120° 22,969 0,0718 0,2448 34,60 0,00 025 5
3 120° 22,969 00718 0,2448 3553 49,99 025 5

BYr(CT L, ) = 3ra@)LT — dyra(0) brightnessB, [1]
Br(Lr, ) = Cr(®)[Sol) + SUO)LF]  (n=0,31,B4,=B 1, /B 1) [2]
$ra®)=CT(®)B%a [3] dyra(®)=Br(Lr, §)Bta [4] (s=scaling factor)

YT ¢ CT(¢) SO(¢) Sl(¢) Bv('—h“’) B*y'r Syra(¢) dyra(¢)
34 120" 22,969 0,0718 0,2448 34,60 149,99 101,03 4
22 120’ 22,969 0,0718 0,2448 34,60 124,99 101,03 4.
13 120’ 22,969 0,0718 0,2448 34,60 99,99 101,03 4
7 120’ 22,969 0,0718 0,2448 34,60 74,99 101,03 42
3 120" 22,969 0,0718 0,2448 34,60 49,99 101,03 43
1 120’ 22,969 0,0718 0,2448 34,60 24,99 101,03 43
0,25 120’ 22,969 0,0718 0,2448 34,60 0,00 101,03 4
3 120" 22,969 0,0718 0,2448 35,53 49,99 101,03 42

hes21-7a_ =3, L;=300,Lo=3, §=120', B;=34,60 B ;=—10,17

hes21-8a_J=3, L=300,Lo=3, =120 B=34,60 B =—10,17 5ra=101.03G,ra=42.0

hes20-3R R,




